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Name: __________________________________



1
Consider [image: image1.png]Ax) = 4x° + 6x-3



, and [image: image2.png]pi(x)



 defined by the graph below.

[image: image3.png]



The difference between the values of the maximum of p and minimum of f is

	1)
	0.25
	3)
	3.25

	2)
	1.25
	4)
	10.25



2
Which function has the greatest y-intercept?

	1)
	[image: image4.png]Alx) = 4 smn(2x)




	3)
	[image: image5.png]h(x) = 52" + 3





	2)
	[image: image6.png]o(x) =3zt + 220 + 7




	4)
	[image: image7.png]j(x) = 6log, (3x+4)







3
Consider the function [image: image8.png]p(x) = 32" + x° - 5x



 and the graph of [image: image9.png]


 below.

[image: image10.png]> <

> X




Which statement is true?

	1)
	[image: image11.png]pi(x)



 has three real roots and [image: image12.png]()



 has two real roots.
	3)
	[image: image13.png]pi(x)



 has two real roots and [image: image14.png]()



 has three real roots.

	2)
	[image: image15.png]pi(x)



 has one real root and [image: image16.png]()



 has two real roots.
	4)
	[image: image17.png]pi(x)



 has three real roots and [image: image18.png]()



 has four real roots.



4
Which function has the characteristic as [image: image19.png]x —» —eo, flx) — —co



?

	1)
	[image: image20.png](x)




	3)
	[image: image21.png]Ax) = 5(4)~





	2)
	[image: image22.png]1x)




	4)
	[image: image23.png]logs(-x)







5
Which statement regarding the graphs of the functions below is untrue?

[image: image24.png]flx)=3sm2x, from-xw<x < x
2(2) = (r- 0.5)(x+ 4)(x - 2)
h(x) = log,x

F(x) = —j4x— 2]+ 3




	1)
	[image: image25.png]


 and [image: image26.png]()



 have a maximum y-value of 3.
	3)
	[image: image27.png]a(x)



 and [image: image28.png]()



 have the same end behavior as [image: image29.png]X —» —CD



.

	2)
	[image: image30.png]


, [image: image31.png]


, and [image: image32.png]()



 have one y-intercept.
	4)
	[image: image33.png]a(x)



, [image: image34.png]


, and [image: image35.png]()



 have rational zeros.



6
Which function has a maximum y-value of 4 and a midline of [image: image36.png]


?

	1)
	[image: image37.png]>x




	3)
	[image: image38.png]hx)
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	2)
	[image: image39.png]



	4)
	[image: image40.png]Fx)=4sm(x)+ 1







7
The x-value of which function’s x-intercept is larger, f or h?  Justify your answer.

[image: image41.png]flz) =log(x—4)




	x
	h(x)

	[image: image42.png]



	6

	0
	4

	1
	2

	2
	0

	3
	[image: image43.png]






8
Consider the function [image: image44.png]h(x) = 2sin(3x) + 1



 and the function q represented in the table below. 

	x
	q(x)

	[image: image45.png]



	[image: image46.png]




	[image: image47.png]



	0

	0
	0

	1
	[image: image48.png]




	2
	0




Determine which function has the smaller minimum value for the domain [image: image49.png]


.  Justify your answer.


1
ANS:
4

The maximum of p is 5.  The minimum of f is [image: image50.png]


 ([image: image51.png]63
@4




  [image: image52.png]


).  [image: image53.png]



REF:
011922aii

2
ANS:
4

[image: image54.png]A0 = 4 smn(2(0;




;  [image: image55.png]o(0) = 3(0)* + 2(00* + 7=7



;  [image: image56.png]p(0) = 52" + 3




;  [image: image57.png]7(0) = 6log, (3(0) + 4) = 12




REF:
082310aii

3
ANS:
1
REF:
081804aii

4
ANS:
4
REF:
062309aii

5
ANS:
2

[image: image58.png]


 does not have a y-intercept.
REF:
011719aii

6
ANS:
2
REF:
062222aii

7
ANS:


[image: image59.png]=log)(x-4)
10°=x-4

x-4
5




  The x-intercept of h is [image: image60.png]


.  f  has the larger value.
REF:
081630aii

8
ANS:


q has the smaller minimum value for the domain [image: image61.png]


.  h’s minimum is [image: image62.png]


 [image: image63.png](2-n+1)



 and q’s minimum is [image: image64.png]


.
REF:
011830aii

